Figure 7-23 The genetic code is trans-
lated by means of two adaptors that act
one after another. The first adaptor is the
aminoacyl-tRNA synthetase, which cou-
ples a particular amino acid to its corre-
sponding tRNA; the second adaptor is the
tRNA molecule itself, whose anticodon
forms base pairs with the appropriate
codon on the mRNA. An error in either
step will cause the wrong amino acid to be
incorporated into a protein chain. In the
sequence of events shown, the amino acid
tryptophan (Trp) is selected by the codon
UGG on the mRNA.
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NET RESULT: AMINO ACID IS
SELECTED BY ITS CODON




